210w 17"7 '0IN R,0n PYITR .7"02

For he can make it simple — VWD IMWYH PN

Overview

A w5 vl is the usual vx where the wording of the v and the signature of the
witnesses appear on the same side. In a wPn ©3, one line is written and the next
line is left blank. The written line is then folded over the blank line and they are
stitched together and the 27V sign on the back (of the written line). The next line is
written and a blank line follows and they too are folded over, stitched and the 27V
sign on the back. This process continues until the entire ©3 is written. (When
finished it looks somewhat like an accordion.) 9X°%13 j2 X3°317 "1 ruled that if when
writing a IwpPn vi the 27 signed on the inside (not on the outside, the way they
are supposed to), it is nevertheless w2, because it can be made into a v1wd v (by
removing the stitches).
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»''w9 explained; if we are concerned because of the air space between one line

and the next line when the 3 is spread open, this is of no concern -
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For there are many scribes who are not craftsman to organize their writing

properly and they leave air space (blank lines) between the written lines.
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And it is the view of m»0in that even if there is much blank space there is no
concern —

mooIn anticipates a difficulty:
6
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And even though that a ‘bald’ (77p) ©a is 9395, so how can we say that it is 2w even if
there is much blank space

"oyw .

? As mentioned (see ‘Overview’), by a 7w1pn vi there is a blank line after each written line.

? This line is an addition of Mmoo, it does not appear in (our) *"wA.

* The Y"w"mn is 0793 this line (wn? ...A%71M); however the X"w i omits it. The explanation here follows the noa%
5"wann.

> See ‘Thinking it over’.

% The mawn in 2,89 P (first) states (711 7T KXN AP va2 7019, for it is a 9100 v3, then continues) 95 A P V3 K
17v7 12 wpw. Each folded (double) line (one written and one blank [see ‘Overview’]) is considered one wp. If
there are ten 0 wp and only nine o7V it is ?109. This would indicate that too many blank lines make the 2109 ©3, how
can Moo rule that even if 7277 Pom, it is Ww>.

1
TosfosInEnglish.com



210w 17"7 '0IN R,0n PYITR .7"02

mooin replies:
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It is not considered a np v only if the blank line exceed the number of 257 -
1A 2991 NY 799N HY MLIYS 12 DMINND DY ¥ BN YaN

However if the amount of 237y that signed equals the amount of blank lines, it is
not considered a 1P V.

Summary
There may be many blank lines in a 1YW» 3 as long as there are as many 2’7V as

there are blank lines.

Thinking it over
In a "wpn vl the blank lines are (basically) the same width as the written lines.

When Mmoo writes 2 TR 7237 pon w2 12°0x7 Ax1,” seemingly it means that the
blank lines were much wider than the written lines. If that is the case, how should
we understand the conclusion of N1v01N that if there are an equal amount of 27y as
there are blank lines it is 7w2;” does that mean that for each (very wide) blank line,
one 7V is sufficient, or that it depends on the width of the blank line (if it is twice
the width of the written line it requires two 2>7V [for that blank line], etc.)?

7 It may therefore be necessary to add 27y to equal the number of blank lines. [However according to the X"wAmn
(see footnote # 4) there is a requirement of only two 2>7¥ (by the VYWw» nwyiw Wwpn) and the last line of 'on is
referring to a WP V3. (See also 72N *wIon MR # 177.)]

¥ See footnote # 5.

? See (the text by) footnote # 7.
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